1)

2)

3)

4)

5)

6)

7)

8)

HoLY @) TRINITY

Orange J

12 +34 + 56

£24.55 - £2.82

How many less than 15 is 6?

The time is 10:40. How many minutes to the next hour is it?

Paul has a set of Lego bricks. He makes 7 stacks of 5 bricks with 2 left

over. How many bricks does he have altogether?

8 . 1
Leo says — is greater than -. Is he correct?

3 | 3 | 3 | 3

Which sentence describes this bar?

A - Half of three is four B - Half of four is three
C - Half of six is three D - A quarter of 12 is 3
E - A third of 12 is 3

How many minutes until 11 o'clock is it?
A-10 B-20 C-40 D-50



